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7 T F %o HE BB B 5 Loy 15EE R | 16~645% | 6550 L
T # 67,412 | 176,767 | 89,668 | 87,099 | 25,190 | 133,044 | 18,533
/2 = A |} 4,009 | 11,434 5,753 5, 681 1,810 8, 687 937
R H 7 637 1, 890 983 907 228 1,471 191
) t i) 238 448 289 159 417 343 58
F A = i) 116 394 190 204 61 279 54
1 FF ig] 1,979 5, 454 2,126 2,728 574 4,169 111
BOE N T 1 T H 560 1,291 652 639 121 9217 243
wmORE I oE o2 T H 599 1, 450 709 741 214 1,008 228
OB )N OE 8 T H 1, 844 4, 441 2, 260 2,181 728 3,173 540
% B OB 5 T H | 1218 2,974 1,534 1, 440 294 2,187 493
] i Hy 1,080 2, 660 1, 425 1, 235 301 2,030 329
Tl LAELTH 333 998 491 507 95 711 132
T L&A 2 TH 352 1,013 503 510 68 814 131
2Tk LA 3 THEH 408 1,169 548 621 116 900 153
2Tl L A4 TH 510 1, 469 143 126 165 1,149 155
Tkl LAESTH 3617 1,116 548 568 | 91 922 103
Tk LA 6 TH 729 2, 314 1, 140 1,174 217 1,859 238
% #H & 1 T H 484 1,401 692 709 158 1,052 191
e & 2 T H 640 1,920 973 947 270 1,439 211
e % & 3 T H 400 1,081 519 512 122 807 102
£ 1 & 4 T H 385 1,146 580 566 255 852 39
fe % & 5 T H 340 1,012 520 492 118 820 T4
5 #H & 6 T H 504 1, 447 138 709 210 1,155 82
£ % & 7 T H 186 550 289 261 78 424 48
e i & 8 T H 599 1,941 979 962 396 1, 452 93
o s W E 1 TH 1,835 5,124 2,559 2,565 780 3,839 505
&> & B R 2 TH 2, 212 6,088 3,004 3,084 954 4,579 555
= =) iy 892 2,595 1,347 1, 248 380 2,022 193
K H i) 341 | 728 360 368 95 450 183
K & T 1 T H 324 954 480 474 130 656 168
B & # 2 T H 697 1,559 811 748 169 1,167 223
T+ ] iy 2,309 6, 147 3,298 2,849 944 4,725 478
& E ) 2,723 7,845 3,965 3,880 1,016 5,865 964
B 3 i) 1,138 2, 851 1, 475 1,376 452 2,043 356
[} 2\ o = 950 2,495 1,215 1,280 377 1,892 226
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iy T F %o ME BB R 5 Z 158K | 15~645% | 65581 L
1A HT 2,221 6, 326 3,172 3, 154 715 4,870 141
1t L iy 312 156 356 400 120 463 173
1t ] HT 1,091 2,915 1,482 1,433 481 2,132 302
it ® 1 T H 501 1,084 508 526 113 692 229
ikt B 2 T H 557 1,208 585 618 170 860 173
£ B 3 T H 679 1,548 805 743 246 1,092 210
it B 4 T H 342 905 417 488 105 600 200
it B 5 T H 302 762 352 410 99 492 171
1t ) n 6 9 § 3 1 8 0
1t =) I 991 2,792 1,428 1,364 349 2,230 213
1t R i 1,401 3,870 1, 900 1,970 580 2,965 325
i " i 631 1,761 880 881 235 1,379 147
1t =) J 795 2, 248 1, 106 1,142 441 1,648 159
1t =) J 112 307 153 154 49 2317 21
1t R Il 578 1,682 836 846 221 1,274 187
1t R J 807 1,951 965 986 224 1,493 234
1t %) Jl 678 1,976 977 999 257 1,552 167
1k R i 1,184 2,624 1,263 1,861 49| 1,940 285
# % m 1 T H 1,275 3,035 1,559 1,476 413 2,220 402
w Ok EH o2 T H 756 1, 900 960 940 205 1,378 3117
¥ O B O3 T H 1,283 3, 348 1,689 1,659 403 2, 475 A70
# %k EH 4 T H 1, 687 4,296 2,123 2,173 644 3,105 547
¥ Ok W 5 T H 3,376 8,616 4,317 4,299 1,225 6, 473 918
B Ok EH 6 T H 912 1,926 1,002 924 169 1, 401 356
B E A B 1 T H 1,177 2, 524 1, 407 1,117 493 1,955 76
HE AW 2 T H 1,868 3,869 2,125 1,744 696 3,033 140
B kR A MW 3 T H 1,102 2, 402 1,288 1,114 433 1,849 120
Bk A 4 T H 371 876 454 422 155 663 58
B R AWM 5 T H 9317 2, 043 1,123 920 434 1, 559 50
B kR A ® 6 T H 787 1, 666 892 774 279 1,329 58
HE AW 7T T H 1,575 3,824 2,041 1,783 753 2,932 139
M o1k A T H 803 1,735 876 859 144 1,214 3717
B &t B 2 T H 304 515 276 239 48 415 52
= % K& 1 T H 675 2, 043 1,034 1,009 334 1,581 128
2% Aa 2 TH 269 107 354 353 118 531 58
7 % A& 3 T H 300 803 389 420 63 585 155
=% % K & 4 T H 348 913 454 459 100 658 155
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oy %o | w B b4 5 8 158%RIE | 15~645% | 655l L
WmoooE 1 H 124 352 182 170 80 265 1
Moo 2 5| 325 923 459 464 200 684 39
W &3 H 207 569 284 285 125 432 12
1 = iy 1, 359 3, 880 1,923 1,957 462 2,914 504
1 A = 566 1,984 974 1,010 325 | 1,538 121






